2

m =

GSPOOT1DWN (36 EEgt)

7R

LED

TEMEICR

448Im

1/2 R A

36°

E—LA

36.4°

EFRHR 0%

THHER 100%

RT =R

100%

ES 70%

50%

30%

0%

50% 30%

10%

50%

30%

10% 50%

30%

10%

0%

HER
i

|| 30%| 10%| 30%

10%

30%

10%

30%

10%

30%

10%

30%| 10%| 30%

10%

30%

10%

30%

10%

0%

06 || 0.84 | 0.80 | 0.79

0.77

0.76

0.75

0.83

0.80

0.79

0.77

0.76 | 0.75 | 0.82

0.79

0.78

0.77

0.75

0.75

0.74

0.8 | 0.92 | 0.86 | 0.87

0.83

0.83

0.81

0.90

0.86

0.86

0.83

0.82] 081|088

0.85

0.84

0.83

0.82

0.81

0.80

1.0 || 0.97 | 0.90 | 0.92

0.87

0.88

0.85

0.94

0.89

0.90

0.87

0.87 1085|092

0.88

0.89

0.86

0.86

0.85

0.83

1.25] 099|092 | 0.95

0.89

0.91

0.87

0.96

0.91

0.92

0.89

0.89| 087|094

0.90

0.90

0.88

0.88

0.86

0.85

1.5 | 1.01] 093 | 0.96

0.90

0.92

0.88

0.98

0.92

0.94

0.89

0.90 | 0.87 | 0.95

0.90

0.91

0.88

0.89

0.87

0.85

20 |[ 1.06 | 0.96 | 1.01

0.93

0.98

0.91

1.02

0.94

0.98

0.92

0.95] 091 0.98

0.93

0.95

0.91

0.92

0.90

0.88

2511091098 | 1.05

0.96

1.01

0.94

1.04

0.96

1.01

0.94

0.98 | 0.93 | 0.99

0.95

0.97

0.93

0.95

0.92

0.90

30| 1.1110.99 | 1.07

0.97

1.04

0.96

1.06

0.97

1.03

0.96

1.00 | 0.94 | 1.01

0.96

0.99

0.94

0.97

0.93

0.91

40 | 116 1.03 | 1.14

1.02

1.11

1.01

1.10

1.01

1.08

1.00

1.06 | 099 | 1.05

0.99

1.03

0.99

1.02

0.98

0.96

50| 1.18 ] 1.03 | 1.15

1.02

1.13

1.01

1.11

1.01

1.09

1.00

1.08 | 1.00 | 1.05

0.99

1.04

0.99

1.03

0.98

0.96

100 1.22 | 1.06 | 1.21

1.05

1.20

1.05

1.15

1.04

1.14

1.04

1.13]1.03|1.08

1.02

1.08

1.02

1.07

1.02

0.99

EoyCHERR

12E—LfA

36.4°

/
0

250
0°

30°

cd
FERAHE1000imdp f= 4

KFEBRE

1/2 BBEA

36°

¢

550
1110

1660

2220
3

1170

290

130

73

1000
500
200
100

50

2

3m

453Im




